flux

A? / 1.068

—5x1073

A? / 1.068

0.5

-0.5

0.01

5x1073

50 0

50

—-100

Fe2 + Continuum Fit

X / 4566

Opey 100 +/— —1 km/s
, : : : : ,

= 1.068

o, 1184 km/s
T T T T

Rest A (&)

2500

Fe2 Scale Factor X2 Diagnosis

0.02(1.43)E—7
T T T T

3000

*2mm./ 4566 = 1.068

rm023

T
RMS 1.04E-05
MAD 8.62E—-06

o, 100 1475 prior 225 km/s
I T

! | !
1.5x107°

Fe2 Velocity Dispersion X2 Diagnosis

! | !
2x107°

Fe2 scale factor

! | !
2.5%x107°

! | !
3x107°

X?mm 4 4566 = 1.068

Fe2 Dispersion (km/s)

T | | T | T | T | | |
L 023 m\ RMS 12.2 A
i MAD 6.92
o ;
IR 5[0 ]
NG [0 65> ]
-_ i | ! | ! | ! | ! | ! | | O ! | | _-
0 200 400 600 800 1000 1200 1400 1600 1800



